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'SC
is mot

.

ions of Math & Pre-Calculus 10
ol a)

Chapter é ~ Linear Equations

linear

sSince
chan

* not

Foundat

)
)n
)+
:)na
)»,up

1
2
4
8
16
32

t
0
20
40
60
80

number of bacteria in a culture,
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a) The relation between the
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In a linear relation, a constant change in the independent variable results in a
¥

constant change in the dependent variable.
Example #2: Which graphs represent linear relationsg Explain how you know.

Example #1: Which table of values represents a linear relatione Justify your

To calculate the rate of change, we use the equation
answer.

Lesson 5.6 ~ Properties of Linear Relations

<
5 g
m & -
- - o
—
LYY
v = n—l G i Re (G | R sl
Foaey 1 Lobo Lot 1
bobdespodet-dbedq e
ol Tt doali .
e T 0 1 T
T T TR | EN__ L =l -
[t S r=y--r-1a ¥
H ¢ ‘ -+ “.u ltnulhllh _l§l
N el it 74 W T O | ™0
<t L1 iy i
AR e
AR EHNEETE e
1
cdeadeobod - —decbhad ead -
i i . 17 Ty
B L O S Y R 1
Lol ] i BN ot
R ' o1 i
it ldactiodig S —
v
S .
0 ©
w m
£ b ¢
¥ RA ¥ RA
TTTTITITY CTTITRTTTT
._1 b vlJll?l.ﬂll" 1|4llll?l..l]l1ﬂll.ll.1|h||.
| 0 1.0 41
r.L..L[.L:i.r dembded r|ﬁunrnfljwu.“|.."...¢|.“
i ity i L i i
|t e ntd St Bt L2 S8 a8 B T e L e e e
L1 i3 N
N 1 1\ AT T
A._;a W o > < -+ L_...»._»LSV
“w ¥ i 1 LYY :aﬁ44.L._44.
I T D T A T T
I | ~ el e L !
I “ n \ 1 _. [ “
A A
] | ]
HEEEEuE TR E e S L E
LU T T 1P O S SR el dodo)
Y \ i

%]




Example #3: Calculate the rate of change for each linear relation.

Q) y=4x+2

x y rate of charge = 20 =[4] @)
—10 —-38 + 20 &

s
=S -18 o

¥S 0 2 5

‘S 5 22 *20

+5 10 42 +20

b) A dogsled moves at an average speed of 10 km/h along a frozen river.
The distance travelled is related to time.

Time Distance
= 1D km
(hours) Traveled (km) rate of chomge g U
‘(1 0 0 $10
1 10
” 5 20 410 =ho e~/

3 30 +10
4 40 i

c) A hot tub contains 1600 L of water. Graph A represents the hot tub being

filled as a constant rate. Graph B represents the hot tub being emptied at
a constant rate.

Graph A Graph B

Filling a Hot Tub Emptying a Hot Tub
[T ledaV] [#08 T 1] 11111
T T
1]

| |
1
111
L NN EEEENAEEEELR
| 07 T4o 80120 10 x@0 80 120
: | i Iﬂm'e.(:;nin)i‘_ l——[ ———Time (min)
| 11 | | { | | |

rate of charge = Bool rate of change = ~BooL

40 i 20 Min

=20 fmi ] ';FL*’DL/miﬁ'.




